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2. (12 pts) Evaluate
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3. (12 points) Evaluate
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4. (14 pts) For your answers beloW, simplify and give exact form.

(a} Find the average value of 4zIn(z + 1) from =0 to z = 2. .
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(b) Determine if the improper integral below converges or diverges. If it converges, then give the
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value. You MUST correctly show your work. ————— dz. (Hint: The denominator
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5. (12 points) The region bounded by y = /z, z = 0, and y = 2 is rotated about the y-axis to form
a container. Distances are measured in feet. Initially, the tank is full of a fluid that has a density
of 20 Ibs/ft®. How much work is done to pump the top 1 foot of liquid out of the container?
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